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™ olve by Factoring
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Solve by Square Roots:.
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Solve by using the quadratic formula.
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Solve each equation any way you want. Show your work. = -‘q
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REASONING:
20.) Explain why x2 = -81 DOES NOT hove a real solution.
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21.) Which method can’t you use to solve this problem? x2-47 =0
Circle one: Factoring Completing the Squor@ Quadratic Formula
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Explain why: no b ‘RY @)
22.) Which method can’t you use to solve this problem? x2+7x=0
Circle one: Factoring Completing the Squo‘re Quadratic Formula
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Explain why: N 0V\¢ l




23.) Which method can you use to solve all quadratic equations?

Circle one: Factoring Completing the Square ‘Quadratic Formula
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24.) What are the two mistakes in seffing up the quadratic formula?
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26.) Clean up the following: e
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27.) Simplify the following:
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28.) Match the following quadratics with their roots/solutions/zeros/x-intercepts:
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